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Risolvi le seguenti equivalenze.

47,26 dal = ................... dl

2,286 dal = ................... cl

3789 l = ................... hl

0,2181 dal = ................... ml

165,2 dl = ................... hl

3,999 l = ................... ml

4451 cl = ................... dal

1735 cl = ................... hl

26,21 hl = ................... l

388,4 dl = ................... hl

10,41 hl = ................... l

33,57 dl = ................... ml

3,708 dal = ................... dl

1019 cl = ................... hl

2,905 hl = ................... cl

463,5 ml = ................... dl

0,2522 dal = ................... ml

0,01769 hl = ................... cl

3,207 hl = ................... cl

179,4 dl = ................... hl



Pagina 2

1032 cl = ................... hl

2447 ml = ................... dal

32930 cl = ................... hl

1619 cl = ................... hl

0,04746 hl = ................... cl

1,541 l = ................... ml

2,525 l = ................... ml

0,0027 hl = ................... cl

436,5 dl = ................... hl

4,42 dal = ................... ml
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Soluzioni

47,26 dal = 4726 dl

2,286 dal = 2286 cl

3789 l = 37,89 hl

0,2181 dal = 2181 ml

165,2 dl = 0,1652 hl

3,999 l = 3999 ml

4451 cl = 4,451 dal

1735 cl = 0,1735 hl

26,21 hl = 2621 l

388,4 dl = 0,3884 hl

10,41 hl = 1041 l

33,57 dl = 3357 ml

3,708 dal = 370,8 dl

1019 cl = 0,1019 hl

2,905 hl = 29050 cl

463,5 ml = 4,635 dl

0,2522 dal = 2522 ml

0,01769 hl = 176,9 cl

3,207 hl = 32070 cl

179,4 dl = 0,1794 hl

1032 cl = 0,1032 hl
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2447 ml = 0,2447 dal

32930 cl = 3,293 hl

1619 cl = 0,1619 hl

0,04746 hl = 474,6 cl

1,541 l = 1541 ml

2,525 l = 2525 ml

0,0027 hl = 27 cl

436,5 dl = 0,4365 hl

4,42 dal = 44200 ml


